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1 What is the question of the paper?
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2 Why should we care about it?

[RIERR | BEFERA BN —EZE, ERERT 2B RIMEBRE S, HE
KRB EFERENZEE, MiEEBEREmEEREENRZINER, aEFREREE
FERRFEES. MIREAEEENER, TLERRESFERERERE,. HE2EE
AR KB EIREE AR ERH(EE, MAMEIMER:, 44 ReEMIMF 572 World Bank
B, EEEEWE, 2008 FE vk BHEE. 2009 FE A B H FEBURM (B 55 5. 2010 FEEUE
fEES,

3 What is the answer?
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4  How did the author get there?
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Parameters

v 2 Risk aversion parameter Literature

B 0.96 Time Discount Factor Time period is a year

re 4% Annual Risk Free Rates Literature

3 0.02 Standard Deviation of Income Match the volatility of income
£ (1, 1/20) Cost of Inflation Volatility of inflation

u 1 Mean Income -

A 0.05 Cost of Default ( drop in income during autarky) Bai and Zhang (2010)

Pryu) 0.5 Probability of High Income Shock -
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